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Mote: Unless otherwise required in a question answers should be written either in Sanskrit or in
Hindi or in English, but the sam¢ medium should be used throughout the paper.
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Translate and explain in details any three verses from part A and part B each. 8x6=48
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Describe the importance of 4™ Act of Abhrgyam/mkuntai
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Write an essay on the origin and development of Sanskrit Drama.
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Write the sumimary of 2™ Act of Mudraraishas | in your own words.
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Discuss any twe of the followmg
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Write short notes on any three of the foilowing:
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